g
(z/hgmount

Installation manual

6 266 066)

4?%§ff~6§{f;§66f 0601 GEOT 96

f =
p @ﬁ*’ﬁ g

\
& .

Marker

Wrench (M8,M10)

Tape measurement

Electrical drill

M8 Allen key




Step
Installation-Hook

/4/hgmouwnt

Professional Solar Mounting Solution Provider

Installation manual

Step
Installation- Triangle

a: Using M8*20 hex head fastners to fix U shape beam and hook

b:  Adjust the angle to max for panel to be easier fixed.

Slide outer tube to U shape bottom, fix beam and U shape bottom with
M8*55 Allen bolt kit

Step

Installation-Rail

a: Slide M8 square nut to W40B Rail

and W40B rail with M8*20 |, ,
Allen bolt kit iy

Fix Beam and panel with
M8*50 Hex head bolt kit

a: Fix Hook and balcony
with M10*100 hex head
bolt kit

b: Slide plate to U shape ,
screw then fix with 10 /
nut and flange nut.




